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- 2oF AN kPa, kgf/cm? bar, psi, mmHg,
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1-digit *" 1-digit *" 2-digit

0.0 ~ -101.3 kPa 0.0 ~ 100.0 kPa 0~ 1,000 kPa -100.0 ~ 100.0 kPa B
5.0 ~-101.3 kPa -5.0 ~ 110.0 kPa -50 ~ 1,100 kPa -101.2 ~ 110.0 kPa

7 MIZHE LED, 3 %2 digit

-10~0°C: < +2%F.S, 0~ 50 °C: < +1% F.S.

A of x2 A 3 x2 B 3 x1.5 A 3 x2

HoIES | H e D

- HiMOIEY: @ 4 mm, 54, 2 m
- HUEE: 54, 3 m

AWG 24 (0.08 mm, 404), HHH| 2/Z: @ 1 mm
FHlo|A, of2d TE, HH: IXEF

100,000 2]

IP40 (IEC 7+4)

CE B

=709 (=160g)

12 - 24 VDC=
<50 mA
NPN 2E =2
<30VDC=
<100 mA
NPN: = 1VDC=, PNP: < 2 VDC=
2ob/™et1- dlg\t (psi T2l AL Al: 2-digit)
A4er 2-digit !
Qe £0.2% F.S. +1digit

+0.2% F.S.x2digits
100, 500 ms
£3 et IR B2
10 ~ 55 Hz (7] 1 2Zh EZZ 1.5 mm X,
=10 ~50 °C, 2Z& A|: -20 ~ 60 °C (2% £&
35 ~ 85%RH, 2&E Al: 35 ~ 85%RH (B E£= 22 =[X| 2 A)
QBLIC,

+10% (ripple P-P: <10%)

2lE £21 /PNP 2E 22F 22 g

T (1-5VDC= 2% F.S)
TkQ

<*2%F.S

<1VDC= +2% F.S.
=4VDC= £2% F.S.
1/200
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